GOLF CROQUET
Handicap Table Score Targets
Number of Hoops Required to Win a Game

H/Cag 3 4 S 6 7 8 9 (1011 | 12|13 | 14 | 15 | 16

4:3 4:4

5:3 5:4 5.5

6:3 6:4 6:5 6:6
7:3 74 75 7.6 77

8:3 8:4 8:5 75 7.6 77

(C<o 2 Mool N [ e T @) i SN

9:3 9:4 74 8:5 6:5 7.6 77
10 | 10:3 8:3 8:4 74 75 6:5 7.6 77

11 | 72 | 83| 94 | 74| 85| 75 | 76 | 76 | 7:7
12 | 82 | 93| 73| 84| 724 | 85| 75| 76 | 7.6 | 7:7
13 9:2 110:3 8:3 9:4 7:4 8:5 7:5 75 7:6 7:6 77

14 | 92 1103 | 83| 73| 84 | 74 | 85| 75| 65 | 76 | 7:7 | 7:7
15 | 10:2 8:2 9:3 8:3 9:4 8:4 8:5 8:5 7:5 6:5 7:6 77 77

16 |11:2| 82 |103 | 83| 73| 84 | 74| 85| 75 | 75 | 76 | 76 | 7:7 | 7:7

Example: if you have a GC handicap of 10 and your opponent has a GC handicap of 6, you need to
score 7 hoops to win and your opponent needs to score 4 hoops to win.
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